FIELD REPLACEABLE UNIT DOCUMENTATION
Portege’

3010/3020CT

BATTERY PACK REMOVAL OPTIONAL PCMCIA CARD REMOVAL

Releass lever

Batery Pack

pC dant Eject Lever
1. Tumthe computer wside down as shown
2. Siide e battery release lever in th cirscton of the 1.Pullout the eject lever ofthe PC card tobe remover
arow 2/Pushthe eject lever toremove the PC card
3. Pul the battery pack sightly foraard and i
tou.

EXPANSION MEMORY REMOVAL MEMBRANE/IPS SWITCH REMOVAL

Hemory

=

26 et of
head biach |

12 12t
head black

1. Tumthe computer upsic do

v 1. Remove six M2x flat head screws securing the base
2 Remove two M2x3 black screws securing the oo,

memory cover.
3. Grasp hoth sides ofthe memory mociule and pul f out

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Portege"

3010/3020CT

MEMBRANE1PS SWITCH REMOVAL

112G it head
siver screwe
2 Turnthe computer it side up and it up the 4 Remove LED lens.
almrest cover. 5. Remove three M3 flat head silver screws:
3 Release the IPS cable by unlocking the connector ‘securing the IPS bracket
s

[ HDD/SUB BOARD REMOVAL
KEYBOARD REMOVAL

USE earth
HOD piateiSUE board

Coppertape

1. Disconnect the sound cable rom PJT01
2

rd cable. pul ot e and remove the mytar cable from PJ20.
e he ok o8 connectr and pul ot the 3.Removs ane M brass screwssauring the USB
o ke 2 S UL A carth st SUB board and 1
3 U o e eboard 4. Discamec the HDD.fom PU21 an s ot ofthe
HBB nsstr

TOSHIBA

Tough Enough for Today's World.



FIELD REPLACEABLE UNIT DOCUMENTATION
PortegéM

3010/3020CT

DISPLAY ASSEMBLY REMOVAL 68 e

11256 fat head black screvs:

12 brass screws
2. Disconnedt the microphone cable fom P15 and
1. Remove two M2x6 flat head black screws LCD cable fom PJ3.
secuingthe display assemby 3. Remove six M2xd brass screws securing the
display assemby

RTCBATTERY REMOVAL SYSTEM BOARD REMOVAL

RTC batterycable  PJ12  Insulator LCD cover sinsorlever M2 Siver screw
1. Remove two Mexd brass screwe securing

the

2. Remove sound cable fom P11
ooy ook | 2/ Remove one Mexb Siver screwszcuring
S:Renereife imister snd then e R1C sty LCD cover somcor lover and I it the Sy bor.

1. Disconnect the speaker cable fom P16
2. Disconnect the RTC battety cable iom PJ12
att

NOTE: The Heat conductors are separate pats.Pleass
femove them befors sending the boardto TOSHIBA,
and ensure that the heat conductors are insalled back
tothe replacement board foprevent i fiom overheating

TOSHIBA

Tough Enough for Today's World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Portege”

3010/3020CT

SYSTEMBOARD REMOVAL MICROPHONE REMOVAL

PeiCIA
ot cable

Hicrophone.
insulator

PCHCIA ot Wicrophone

5 e e o cssetiod o1 e ot e mophone e
.

S‘rﬂ DO A———cA———;

4 B poCiA dot andrenore L VERTER AND [ REWOUAL

ot i

DISPLAY MASK REMOVAL L2 iy L

12 FL
Flat head | nveter
Siver A
sareve i
L fat head
LcDcable LD modue Flinveter cable
1. Remove one M2xd flat head silver screw securing
Display mask FLinverter board
2 Liftupthe FL inverter board and dsconnect the FL
1. Remove four mask sedls using a palrof fe-tppec! cable fion CN2 andthe FL investes cable fom CHi1
eczers. 3. Remove three M2x3 lat head:
2. Remove two M2x flat head silver screwsilower ) ‘securing the LCD mode.
and two M2x ). dule from gt to let of
3. There are 10 latches securing 1 dispiay mask. the LD cover and removethe cip securing the LCD
CD cable fom the LCD module and
andthe LCD e the compute

TOSHIBA

Tough Enough for Today's World.



